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JEH| No h — b ° K £ i B it %
1 228 HHE & ISV 1=TERIBY77 7.20
2 226 meE EA ISV 2=TERIBY77 7.26
3 235 HiZE X g4 #RiRRC 1.27
4 244 S 5 MEAFA 7.38
5 234 &R BRZE g4 #RiRRC 7.40
6 231 PN TR YN EC VR ) 7.43
7 230 w1l IR ISV 1=TERIBY77 7.52
8 239 HE RER whELYS7 7.55
9 248 FR KR mERFA 1.57
10 236 HiZ FEifE B #RiRRC 8.01
11 240 JeH Ezn whELESSD 8.04
12 227 Kk ISV 2=TERIBY77 8.06
13 237 KR EXER g4 #R iRRC 8.07
14 238 B KA g4t iRRC 8.10
15 243 B EE whELESSD 8.24
16 245 B K MEAFA 8.29
17 250 He &3} FIEFTRC 8.30
18 246 ® =R MEAFA 8.32
19 242 PE K whELESSD 8.32
20 247 IZNR [&E RERFA 8.35
21 252 ER & FIEHTRC 8.36
22 232 B i A4Fy 2957 8.44
229 B X% ISV 1=TERIBY57 R 35

233 AR K* RARIIEIL R 5

241 TF fHiE N A ) Ri5

249 BE JiE SMERFA R 5

251 ER ¥R fTE FIRC R 5
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1 86 K #0 ISV 1Z7ERIBY77 9.43
2 120 =N i}iE =R PR 9.46
3 117 = ths B iR AR 9.52
4 134 Ng X = PR 9.53
5 89 ek FARAYEaR es 9.58
6 99 WF g4 NI REst=a 5 10.00
7 119 IR K5 =P ER 10.02
8 105 gk R B R R PR 10.02
9 219 M 1&F] MR P AR 10.07
10 220 Bl X AR = HEUGED 10.09
11 218 B5iE —iE * ok kK % 10.10
12 140 BH D BEFHER 10.11
13 149 RER FERK REPER 10.18
14 173 ha iR EighEm 10.20
15 103 2 S A= B iR R PR 10.20
16 170 i £ B FR 10.20
17 153 INFR BEXR R A S 10.24
18 101 IR = B iR R PR 10.28
19 87 H5H Eth ISV 1=TERI=Y77 10.30
20 96 Nt BX NI REst= ot 5 10.33
21 167 & BX fEE PR 10.35
22 174 AGRE #H3 HEighEm 10.36
23 114 ME BRE B4 IR AR 10.36
24 124 Xz HIK =R PR 10.38
25 131 ik &% =R PR 10.39
26 100 MAEEH BEL B4R HIRRC 10.44
27 92 ARE &= NI REst=a 5 10.44
28 172 [ Y EighEm 10.48
29 108 A BE En 4o iR PR 10.50
30 137 He = =57 10.57
31 93 TR B NI REst=a 5 11.00
32 97 TR THER NI REst=a 5 11.02
33 135 AR =R =57 11.03
34 136 =% AlE =&o357 11.10
35 152 KEF 3t Rilgd 11.14
36 91 Kl ER NI REst=a 5 11.15
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37 154 AT E# R A S 11.18
38 125 ns Bz =P ER 11.19
39 169 SE A EighEm 11.20
40 141 Bl m B R 11.24
41 139 =8 E—H =&o37 11.26
42 104 faiE STiX B iR R PR 11.26
43 144 BT EE FREPEKR 11.28
44 130 =T Ak =P ER 11.29
45 145 =T BHMA FREPER 11.31
46 147 M0 £ FEEPFER 11.31
47 95 Bt K NI REst=a 5 11.32
48 102 EH % B iR R PR 11.33
49 168 25 &34 Y& P FER 11.34
50 133 w® HiE =R PR 11.34
51 132 AR BX =R PR 11.35
52 90 m At NI REst= ot 5 11.36
53 109 ik Bt B iR R PR 11.40
54 142 L& &FH B R 11.45
55 166 BH BE— R A S 11.49
56 126 iz G =R PR 11.54
57 123 =4 EXER =R PR 11.57
58 128 Bl GTOFm =R PR 11.58
59 94 HA [EEE NI REst=at 5 12.03
60 122 FIR EE =R PR 12.05
61 115 R K¢ B iR R PR 12.10
62 201 5 oF BRI ZRER 12.21
63 192 AT EA BRI RER 12.24
64 138 JKE EAER =&o3>7 12.26
65 158 B FEEE R A S 12.27
66 156 g ZE R A S 12.27
67 111 # 2R B R R PR 12.27
68 151 ¥ AR REPER 12.28
69 204 S &EXL &k LR ER 12.28
70 127 FW R =R PR 12.31
71 190 Pz E=3 Bl I T =R ER 12.34
72 150 BH FOE FREPER 12.34
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73 121 Tk 1218 =P ER 12.40
74 161 mE RE R ASELD 12.40
75 164 HO B4& R A S 12.40
76 211 7 w3 &4 Lt R KK BB 12.41
77 112 [R #7 B iR R PR 12.41
78 157 =T B3 R ASELD 12.42
79 203 &R = &k LR ER 12.42
80 189 M RE Bl I T =R ER 12.44
81 113 FBE =X B iR R PR 12.52
82 198 KR BEX Bty I T =R ER 12.54
83 208 Rfn 8E &k B AR K kBB 12.56
84 182 HE FZF Bl I T =R ER 12.57
85 143 #0O B R 12.58
86 217 I Kith &4 LR KK BB 13.03
87 193 R B4 Bl I T =R ER 13.13
88 191 mKk FE BlERY I RER 13.18
89 177 AT #Ht BlERYITFTZRER 13.24
90 195 A Bl I T =R ER 13.35
91 209 WE FA &k BL R AR K kBB 13.41
92 216 Nt EHE &k B AR K ik BB 13.42
93 199 XA B8 Bl I T =R ER 13.43
94 221 MDD R B AR S HEREED 13.44
95 188 XE @2 Bl I T =R ER 13.57
96 187 AH Bt BlEhY I = RER 13.58
97 106 TF ER B iR R PR 13.59
98 163 i EX R ASELD 14.05
99 180 &8 BA wlEhY I T = RER 14.16
100 205 faiE Bt &k LR ER 14.23
101 160 Rt B R A S 14.34
102 162 HE HEAE R A S 14.35
103 129 defx $RER =R PR 14.36
104 183 WA T3¢ Bl I T =R ER 14.41
105 176 FiR B wlEhY I T = RER 14.43
106 202 HE B8 Bl I T =R ER 14.43
107 196 mE H#A BEEhY T XER 14.44
108 197 S RE BlERY I T RER 14.45
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109 186 2T M BlEd ) IhT =R ER 14.47
110 178 g thE Bl I TR ER 14.50
111 200 1IBZE EHIL BlEhyY I RER 14.52
112 165 R fIE R A S 14.55
113 159 HE B3t R A S 14.55
114 184 ZIl =tk BlERY I T RER 15.03
115 181 ® R BlESRYITZRER 15.07
116 179 fERRK Kith Bl I T =R ER 15.12
117 185 FEE REHK Bl T =R ER 15.14
118 210 ® HEE &k B AR K kBB 16.19
119 215 LR & &k B AR K kBB 16.19
120 194 B HK Bl I T =R ER 16.27
175 L% K AR R 35
88 g #EE ISV 1=TERIEY57 R 35
98 R B N0 R 35
107 B Kih B IR PR R 35
110 #/0 KB B9 o 1R R AR R 35
116 EH #wE B iR R PR R 5
118 i WA B iR R PR R 35
146 B R REPER R 35
148 INE GEX TRiE h 2 R 35
155 #®iR K2 8k H = R 35
171 #HAR EA HifrhER R 35
212 O #X f&4r B R 24K Gk B R 35
213 LI #5E f&4r B P28k Gk B R 35
214 Hoh 2AEA f&~r B P24k Sk B R 35
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1 70 WT = NTTE=R SR 10.47
2 56 XL BF =R ER 10.50
3 81 18R Kt NTTE=R SR 11.07
4 79 T #X WS 11.14
5 77 Erk ERED NTTE=R SR 11.22
6 78 £ BIK NTTE=R A 11.25
7 75 R 8K NTTE=R SR 11.29
8 73 10 —R WS 11.34
9 60 28 EE Brl R T A 11.40
10 74 JR EA WS 12.06
11 61 B M Brl R T A 12.09
12 63 wiE BX THEIBEES 12.23
13 64 e B THEBEES 12.25
14 71 WiEB E&X mNEH 12.47
15 57 &3 EHR I =% 12.48
16 69 EH W THEIBEES 13.34
17 65 BT #R THEB=ES 14.59
82 B2 HE L+ FREER R 5
58 .M XiE BT R A Ri5
59 we =t B B = A Ri5
62 51iR FONE BT RE = 4 Ri5
66 A ER THEBRES R 5
67 FE EN THRIBRES R 35
68 mE AR THEBRES R 5
72 EH LiE WIS Ri5
76 FE K— WINER RI5
80 FE LK nIER R i5
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1 43 =7 FIF5 8% T {7 ARER I &7 28.06
2 21 LE &% B i AR 29.10
3 34 Rk K& WH TR 29.11
4 12 B XNEB KET =R 29.12
5 31 Bl T & AR B HERIEED 29.16
6 40 b I 1 8% T A ARER = &R 29.18
7 48 WA fEg— 8% T 7 ARERIZ £7 29.33
8 5 A K FIRILER 29.41
9 35 i NN WH—EER 29.43
10 49 NI 8% T A IRER &R 29.52
11 50 X HE 8% T 7 ARER I 57 30.04
12 2 MEF = FHRILER 30.08
13 13 RFHE KA KETEHR 30.16
14 28 =3 AR L EFHERIEED 30.33
15 32 B2 mth AR B HERIEED 30.49
16 14 WA K AREEESK 31.00
17 44 BH THiE 8% T R ARERIZ E7 31.02
18 45 R A 8% T A ARER = &R 31.14
19 30 Kige A AR B HERIEED 31.16
20 18 FiL FE £ FH R SR 31.34
21 47 VN 8% T R ARER I E7 31.39
22 37 INtR KEE W —EEK 32.24
23 9 e E NTTE=R SR 32.24
24 7 =H hit THEIBEES 32.43
25 1 XiE X FERIL S 33.01
26 46 /NI £ T R A BRI 3B 33.05
27 26 IR 2 AR S HEREED 33.30
28 15 IBE EX ERAOCIDERIES 33.56
29 36 il —2 T = 34.00
30 41 FEiR —&h £k A T {FARER{T BB 34.17
31 6 IRT a4 FERIL S 34.27
32 27 HiE B4 AR LS HEREER 35.00
33 16 A =X fRHOIDERIES 35.12
34 42 RS fE@XER B T FABER = ED 35.19
35 22 BE EX HERATIE EREHE 35.22




36 23 T8 =1 By TR ER 35.24
37 39 ® B T = 35.24
38 4 FE RER FAIL SR 35.44
39 20 BHF R B 35.56
40 17 =R BEZ ERAOCIDERIES 36.12
41 19 {EpE BAHED HiR g 36.35
42 33 R BBK AR S HERED 38.09
43 3 A % FRIL S 38.43
8 AT HKX THEBEES Ri5
10 KA TR WIS Ri5
11 Em Eh AT RER R 5
24 EiE ok * ok ok K K R 35
25 WE RSl L RBEER Ri5
29 Bl &k— BIR LS FHEREER R 35
38 Nt FRE M ZEEK Ri5
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